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Chapter 16 (Questions 1-40)

Chapter 17 (Questions 41-80)

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

1)The ________ of an environment refers to the degree to which it can support growth.  

A)capacity  

B)permeability  

C)qualifications  

D)capability  

E)potential  

2)The key component underlying bureaucracies is ________.  

A)wide span of control  

B)standardization  

C)the organizational pyramid  

D)dual lines of authority  

E)flexibility  

Consultants Exceptional (CE) has hired you to develop training materials for their consultants. Your first assignment is to develop a training program that helps their consultants to analyze and understand the organizational structure of the company that they are assisting. CE believes that in order to adequately evaluate and understand a client company, consultants need to understand the basic organizational structure of the company. Consultants are then able to recommend actions and changes based on the company's structure.

3)________ is addressed by asking the question "On what basis are jobs grouped together?"  

A)Centralization and decentralization  

B)Departmentalization  

C)Work specialization  

D)Formalization  

E)Matrix restructuring  

Matthew is a new divisional manager. In reorganizing his division, he must make some decisions regarding the span of control for management within his division.

4)The question of span of control determines ________.  

A)how employees will be compensated  

B)who reports to whom  

C)where decisions are made  

D)the number of levels and managers an organization has  

E)how jobs will be grouped  

5)One of the most popular ways to group activities is by ________.  

A)product  

B)process  

C)geography  

D)function  

E)temporality  

6)The virtual organization stands in sharp contrast to the typical bureaucracy that has many vertical levels of management and where control is sought through ________.  

A)teams  

B)manipulation  

C)ownership  

D)imposing limits  

E)directives  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

7)The strength of the bureaucracy lies in its ability to perform standardized activities.  

8)The degree to which tasks in the organization are subdivided into separate jobs is termed departmentalization.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

9)The prototype of the virtual structure is today's ________.  

A)appliance manufacturers  

B)movie-making organizations  

C)fast-food restaurants  

D)simple organization  

E)architecture firms  

10)Employee discretion is inversely related to ________.  

A)specialization  

B)empowerment  

C)complexity  

D)departmentalization  

E)standardization  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

11)A major weakness of the bureaucracy is that specialization creates sub-unit conflicts.  

12)A decentralized organization is more likely to result in a feeling of alienation by employees than a centralized organization.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

13)The virtual is also called the ________ or ________ organization.  

A)pyramid; multi-level  

B)network; modular  

C)simple; unitary  

D)team; social  

E)boundaryless; global  

You have divided the jobs performed by your department through work specialization and are now trying to decide how to best group these jobs to improve efficiency and customer service. You are considering whether to group activities by function, product, process, geography, or customer.

14)Your products fall into several categories with very different production methods for each category. Because of this, you might consider departmentalizing by ________. 

A)implementation  

B)matrix  

C)production  

D)method  

E)process  

15)Which of the following is a drawback of a narrow span of control? It ________.  

A)is more efficient  

B)encourages overly tight supervision and discourages employee autonomy  

C)reduces effectiveness  

D)increases participatory decision-making  

E)empowers employees  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

16)The matrix structure is characterized by highly routine operating tasks achieved through specialization.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

17)Which one of the following problems is most likely to occur in a matrix structure?  

A)employees receiving conflicting directives  

B)decreased employee motivation  

C)loss of economies of scale  

D)decreased response to environmental change  

E)increases in groupthink  

18)________ defines how job tasks are formally divided, grouped, and coordinated.  

A)Organizational behavior  

B)Organizational structure  

C)Departmentalization  

D)Work specialization  

E)Matrix departmentation  

You are interested in explaining the different types of organizational designs to students of basic management. These students need to know the advantages and disadvantages of each structure as well as the structure's characteristics.

19)You describe a structure that is flat, has little formalization, and is fast, flexible, and inexpensive to maintain. You are describing the ________.  

A)organizational pyramid  

B)matrix structure  

C)bureaucracy  

D)simple structure  

E)team structure  

20)You describe to your students a new committee within the university that brings together specialists from all different departments to develop a new interdisciplinary program. The structure probably best meets the definition of the ________.  

A)expert structure  

B)boundaryless structure  

C)virtual structure  

D)organizational pyramid  

E)matrix structure  

21)A plant manager who organizes the plant by separating engineering, accounting, manufacturing, personnel, and purchasing into departments is practicing ________ departmentalization. 

A)target customer  

B)graphic  

C)product  

D)geographic  

E)functional  

22)The more that lower-level personnel provide input or are actually given the discretion to make decisions, the more ________ there is within an organization.  

A)work specialization  

B)departmentalization  

C)decentralization  

D)disempowerment  

E)centralization  

You are interested in explaining the different types of organizational designs to students of basic management. These students need to know the advantages and disadvantages of each structure as well as the structure's characteristics.

23)You extol the virtues and benefits of standardization. You are probably promoting the ________.  

A)simple structure  

B)organizational pyramid  

C)team structure  

D)matrix structure  

E)bureaucracy  

24)You assign your students a project that involves developing a business plan for a retail store. The store will have 200 employees and will serve customers both locally and internationally via a storefront and an Internet catalogue. Which of the following organizational designs is least likely to benefit the goals of this retail store?  

A)team  

B)bureaucracy  

C)virtual  

D)matrix  

E)simple  

You have divided the jobs performed by your department through work specialization and are now trying to decide how to best group these jobs to improve efficiency and customer service. You are considering whether to group activities by function, product, process, geography, or customer.

25)Your company decides to establish southern, Midwestern, western, and eastern zones of operation. Based on this expansion, you decide to implement ________ departmentalization.  

A)regional  

B)area  

C)customer  

D)geography  

E)matrix  

26)If there is low formalization, a comprehensive information network, and high participation in decision making, one would expect a(n) ________ structure.  

A)organic  

B)simple  

C)mechanistic  

D)matrix  

E)stable  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

27)Organizations operating in highly scarce, dynamic, and complex environments fare best if under organic structures.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

28)The strength of the simple structure lies in its ________.  

A)simplicity  

B)efficiency  

C)span of control  

D)centralization  

E)specialization  

29)If you have a narrow span of control, you have a(n) ________ organization.  

A)short  

B)matrix  

C)efficient  

D)fat  

E)tall  

30)The ________ structure violates the unity of command concept.  

A)matrix  B) team  C) virtual  D) simple  E) web  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

31)Span of command determines the number of levels and managers an organization has.  

32)An organization's business strategy is usually determined by the organization's business structure.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

33)A bureaucracy is characterized by all of the following except ________.  

A)decentralized decision making  

B)highly routine operating tasks  

C)specialization  

D)formalized rules and regulations  

E)tasks that are grouped into functional departments  

34)In the late 1940s, most manufacturing jobs in industrialized countries were being done with high ________.  

A)decentralization  

B)generalized structure  

C)structuralization  

D)work specialization  

E)departmentalization  

35)The innovation strategy is characterized by ________.  

A)a mixture of loose and tight properties  

B)low specialization and low formalization  

C)unorthodox structures  

D)high technology  

E)simple structure  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

36)The greater the formalization of an organization, the more input an employee has into how his or her work is done.  

37)The size of an organization affects the organization's structure at a decreasing rate of impact.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

38)________ is characterized by a low degree of departmentalization, wide spans of control, authority centralized in a single person, and little formalization.  

A)Team structure  

B)Bureaucracy  

C)Matrix organization  

D)Simple structure  

E)Centralized structure  

39)Which one of the following is not one of the primary ways to group jobs?  

A)process  

B)customer  

C)function  

D)product  

E)skill  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

40)An increase in the number of rules and regulations results in increased formalization.  

41)Providing an executive with a chauffer-driven limousine is an example of a ritual.  

42)A strong organizational culture exerts more influence on employees than does a weak culture.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

43)How might U.S, managers be culturally sensitive?  

A)discuss religion more  

B)speak quickly  

C)listen more  

D)talk in a high tone of voice  

E)discuss politics frequently  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

44)Organizational culture is a set of key characteristics that an organization values.  

45)The selection process involved with hiring an employee is a two-way process.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

Masterson College is a small liberal arts women's college in North Carolina. The founders of the college were Baptist and were committed to the idea that a liberal arts education was the best preparation for life-long learning. The college has continued to support this orientation towards liberal arts education and has actually moved to strengthen that commitment recently. Within the last two decades, the business department has become one of the larger departments on campus. The faculty of the business department are also committed to finding employment for their graduates and believe that two things are critical for this to happen: 1) their students must have a solid understanding of the fundamental of their discipline; and 2) internships are an important method of establishing the connections and opportunities for employment.

46)The business department holds some unique values in addition to the ________ of the dominant culture.  

A)sub-values  

B)formal values  

C)spiritual orientation  

D)holistic values  

E)core values  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

47)Culture has a boundary-defining role; it creates distinctions between one organization and others.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

The Young Woman's Club of Williams has been operating for seventy-five years as an organization that supports women who stay at home. For years it has been one of the most prestigious organizations in town with a strong membership. This group has always held classes in cooking, sewing, and child rearing. It has always been made up of upper middle class women from the small town of Williams. As the area has grown, many people have moved into Williams and now commute to Capital City, just 15 miles away. Most of the newcomers are dual-income couples, with both spouses holding full-time jobs.

48)The Young Woman's Club is most likely to ________. 

A)shift its core values in response to the perceived needs of newcomers  

B)expand its membership significantly, given the town's population increase  

C)broaden its membership to include women of different classes  

D)experience internal division regarding the future of the organization  

E)remain similar in size, despite the town's population increase  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

49)Strong cultures encourage individuality.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

50)The primary or dominant values that are accepted throughout the organization are known as ________.  

A)core values  

B)manifestos  

C)foundational values  

D)shared values  

E)institutional traits  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

51)Culture increases ambiguity for employees.  

52)The most critical socialization stage is the metamorphosis stage.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

53)Culture may be a liability because it is a barrier to ________.  

A)diversity  

B)mergers and acquisitions  

C)change  

D)all of the above  

E)none of the above  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

54)A strong culture can be a liability for an organization.  

55)Senior executives establish norms that filter down through the organization as to whether risk taking is desirable.  

56)All organizations within an industry use the terminology designated by the industry so that their employees can move freely from organization to organization.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

57)The key characteristic of organizational culture that assesses the degree to which organizational activities emphasize maintaining the status quo in contrast to growth is termed ________.  

A)permanence  

B)competitiveness  

C)stability  

D)aggressiveness orientation  

E)reflexivity  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

58)The most potent means of transmitting culture to employees are stories, rituals, related symbols, and language.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

59)All of the following are examples of material symbols except ________.  

A)a swimming pool for the employees to use  

B)private parking spots  

C)luxury cars for executives  

D)new employee orientations  

E)top executives' use of the company jet  

You are new to an organization and do not really know what to expect about the socialization process. You are a recent M.B.A. and have an undergraduate degree in computer science. Your new firm is a software development company with an emphasis in the health care industry. Your hiring process includes campus interviews, a day-long trip to interview at the company, an offer phone call and letter, and some promotional material sent via the mail. When you arrive for your first day of work, you spend half a day in an orientation session with Human Resources, where you complete paperwork and receive a company handbook. Then you spend the rest of the day with your supervisor, who gives you a tour, introduces you to your co-workers, and explains your first project. After that, you begin working and getting to know the others in the company. You find that in most respects, your experience fits your expectations, but in some ways you are surprised by realities that you hadn't expected. None of these surprises is too difficult to accept, so you eventually begin to feel at home and happy with your new job.

60)When you start to work through the problems that you discover about the organization, you move into the ________ stage of socialization.  

A)prearrival  

B)acceptance  

C)encounter  

D)metamorphosis  

E)none of the above  

61)The employee compares her expectations to organizational reality in which stage of socialization?  

A)ritual  

B)prearrival  

C)analysis  

D)encounter  

E)metamorphosis  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

62)The success of a merger depends most strongly upon the example set by the top management of the merged organizations.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

The Young Woman's Club of Williams has been operating for seventy-five years as an organization that supports women who stay at home. For years it has been one of the most prestigious organizations in town with a strong membership. This group has always held classes in cooking, sewing, and child rearing. It has always been made up of upper middle class women from the small town of Williams. As the area has grown, many people have moved into Williams and now commute to Capital City, just 15 miles away. Most of the newcomers are dual-income couples, with both spouses holding full-time jobs.

63)The culture of the Young Woman's Club can be defined as ________.  

A)a diverse culture  

B)a tolerant culture  

C)a weak culture  

D)a strong culture  

E)an ambiguous culture  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

64)The idea of viewing organizations as cultures is a relatively recent phenomenon.  

65)Material symbols convey to employees the degree of egalitarianism that is desired by top management.  

66)Culture by definition is tangible and explicit.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

Nunya is a computer software company that employs highly intelligent, but somewhat unusual people. Every Friday, free lollipops, toys, or other treats are given out to encourage employees to remember how creative they were when they were children. At the beginning of each quarterly executive meeting, employees are reminded that the founders were three young people who "got lucky" and sold a video game that they invented. Employees are allowed to dress in blue jeans and can set their own working hours.

67)The regular distribution of lollipops, toys, or treats every Friday is an example of a ________ that helps reinforce Nunya's culture.  

A)story  

B)tool  

C)symbolism  

D)ritual  

E)material symbol  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

68)A strong organizational culture creates volatility within an organization.  

69)Culture as an independent variable affecting employee's attitudes and behavior can be traced back more than 50 years to the notion of institutionalization.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

70)What does a positive organizational culture do?  

A)rarely uses rewards  

B)emphasizes organizational vitality  

C)emphasizes building on the organization's strengths  

D)emphasizes individual growth  

E)uses positive reinforcement instead of punishment  

71)Culture is most likely to be a liability when ________.  

A)it reduces ambiguity  

B)it increases the consistency of behavior  

C)countercultures are integrated into the dominant cultures  

D)the organization's environment is dynamic  

E)the organization's management is ineffectual  

72)Which of the following is not true about institutionalization?  

A)Acceptable modes of behavior become largely self-evident to its members.  

B)The organization's mission becomes stable.  

C)It operates to produce common understandings about appropriate behavior.  

D)The organization becomes valued for itself.  

E)It means the organization has acquired immortality.  

73)The macro view of culture that gives an organization its distinct personality is its ________ culture.  

A)dominant  

B)marginal  

C)strong  

D)national  

E)sub-  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

74)Organizational culture serves to reinforce the self-interest of individual employees.  

75)The degree to which management focuses on results rather than on techniques and processes is termed results orientation.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

Nunya is a computer software company that employs highly intelligent, but somewhat unusual people. Every Friday, free lollipops, toys, or other treats are given out to encourage employees to remember how creative they were when they were children. At the beginning of each quarterly executive meeting, employees are reminded that the founders were three young people who "got lucky" and sold a video game that they invented. Employees are allowed to dress in blue jeans and can set their own working hours.

76)The dress code worn by Nunya employees is an example of a ________ through which organization culture is transmitted.  

A)ritual  

B)material symbol  

C)symbolic act  

D)story  

E)tool  

TRUE/FALSE.  Write 'A' if the statement is true and 'B' if the statement is false.

77)Spiritually-based organizations encourage employees to express their moods and feelings.  

78)A strong culture provides a supportive atmosphere for diversity.  

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

79)If there is a basic conflict between the individual's expectations and the reality of working in an organization, the employee is most likely to be disillusioned and quit during which stage of socialization?  

A)ritual  

B)prearrival  

C)encounter  

D)reflection  

E)metamorphosis  

Masterson College is a small liberal arts women's college in North Carolina. The founders of the college were Baptist and were committed to the idea that a liberal arts education was the best preparation for life-long learning. The college has continued to support this orientation towards liberal arts education and has actually moved to strengthen that commitment recently. Within the last two decades, the business department has become one of the larger departments on campus. The faculty of the business department are also committed to finding employment for their graduates and believe that two things are critical for this to happen: 1) their students must have a solid understanding of the fundamental of their discipline; and 2) internships are an important method of establishing the connections and opportunities for employment.

80)Which of the following represents a core value of the college?  

A)technological innovation  

B)life-long learning  

C)scientific knowledge  

D)affordable education  

E)remedial reinforcement  
